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CHAPTER OUTLINE: 
I. The Bookkeeping/Accounting Process

II. The Balance Sheet Equation: A = L + SE

A. Stockholders' Equity expanded:

1. SE = Paid-in Capital + Retained Earnings

2. Net income causes retained earnings to increase

3. Net income = Revenues - Expenses

4. SE = Paid-in Capital + Retained Earnings (beginning) + Revenues - Expenses

B. The Balance Sheet Equation expanded:  

           A = L + PIC + Retained Earnings (beginning) + Revenues - Expenses

C. Equation stays in balance after every transaction

D. Illustration of the effect of transactions on the equation

III. Bookkeeping Jargon and Procedures 

A. Transactions recorded in a journal, then posted to an account in the ledger. 

B. Accounts use a "T" format

1. Left side of "T" is debit

2. Right side of "T" is credit

C. Normal balances

1. Debit: Assets and expenses

2. Credit: Liabilities, stockholders' equity, and revenues


D. Journal entries

IV. Effect of Transactions on the Financial Statements (Horizontal Model)

V. Adjustments

A. Accruals

B. Reclassifications

VI. Transaction Analysis Methodology 

A. Five questions:                     

1. What's going on? 

2. What accounts are affected? 

3. How are they affected? 

4. Does the balance sheet balance? (Do the debits equal the credits?)
5. Does my analysis make sense? 

B. Illustration of applying the five questions

C. Understanding the reasons for changes in account balances 
TRUE/FALSE:


____
1.
The balance sheet equation will remain in balance if a journal entry is recorded to




increase Cash and decrease Accounts Payable.

____
2.
When a company operates at a profit during the year, either assets increased or




liabilities decreased during the year, or both.

____
3.
Some assets on the balance sheet become expenses on the income statement as they 




are used up.

____
4.
When Merchandise Inventory is sold at a price above its cost to the selling 




organization, two entries are required: one to record the sale as revenue, and another 




to record the reduction in Merchandise Inventory as expense.

____
5.
Adjusting entries are required in order to achieve a better matching of revenues and




expenses on the income statement.

____
6.
All adjusting entries affect both the balance sheet and the income statement, but never




the cash account.

____
7.
A proposed adjusting entry that debits an expense account and credits a revenue




account is appropriate because these effects will show up as adjustments to net




income.

____
8.
In the context of adjusting entries, accrue means to increase and defer means to




decrease.

____
9.
Net Income from the income statement is added to the Common Stock account in




order to transfer current-year earnings to the stockholders' equity section of the   

                  balance sheet.

____  10.
Since assets and expenses are both increased with debits, and since assets represent




future economic benefits to an entity, so do expenses.

____  11.
Journals record the running totals of balances in individual accounts such as: Cash,




Accounts Payable, and Common Stock.

____  12.
Dividends represent a distribution of profits to the stockholders of the firm rather than 
                  an expense, and are treated as a direct reduction of Retained Earnings.

____  13.
The chart of accounts is the listing of all of the accounts used within a company's




bookkeeping system and it acts as an index to the ledger.

____  14.
Debit means left and credit means right, and nothing more.

____  15.
Assets and revenues are increased with debits, while stockholders' equities, liabilities,      

                  and expenses are increased with credits.

____  16.
When the bank credits your savings account, you debit your account, because savings




are an asset to you and a liability to the bank.

____  17.
Most people will soon prefer debit cards over credit cards because everything is taken




care of right away.

____  18.
Journal entries can never involve a debit or credit to more than one account each




because this would cause an imbalance in the balance sheet equation (A = L + SE).

____  19.
Closing entries are required in order to close the books at the end of each accounting




period so that revenue and expense accounts will have $0 balances in the ledger when




the next accounting period begins.

____  20.
Since interest expense on notes payable accrues as a function of principal, rate, and




time, interest expense is recorded at the same time that the cash is received from the




lender.

____  21.
Assuming that current assets for Gary's TV are $50,000 and that current liabilities are




$25,000, the current ratio will go down if accounts payable are paid off.

____  22.
Some transactions (such as the purchase of supplies) can be initially recorded as a

                  debit to either an asset or an expense account, so long as an adjusting entry is made at 

                  the end of the fiscal period to reflect the appropriate amount of expense on the 
                  income statement.

____  23.
If accounts receivable had a beginning balance of $68,000 and an ending balance of




$55,000, then the firm had more credit sales during the year than cash collections of

                  accounts during the year (assuming that no other transactions affected the accounts     

                  receivable account during the year).
EXERCISES:

	1.
	December 31, 2014, Duncan Insurance Company, Inc. had working capital of $1,200,000 and a current ratio of 2.5.  How much did Duncan have in current assets and current liabilities?



	
	_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________




	2.
	At the beginning of the current fiscal year, Taneisha Co.’s  balance sheet showed assets                      of $814,500 and liabilities of $356,000.  During the year, liabilities increased by $53,800.  

Net income for the year was $210,900, and net assets at the end of the year were $585,400.                  There were no changes in paid-in capital during the year.

a.  Calculate the dividends, if any, declared during the year.

b.  Calculate the total assets at the end of the year.

                                                                                                                      Stockholders’  

         




                               Assets       =      Liabilities     +        Equity  

      Beginning



   $                    =                           +

      Changes



                         =                           +

      Ending



  $                     =                           +                       .     

	
	_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________



	3.
	The beginning balance in the Retained Earnings account for Ben Franklin's Barber Shop, 

Inc. was $58,400 on January 1, 2014.  During the year, the following transactions took 

place:

a. Ben gave haircuts, shampoos and other services to customers on account for $5,000.  

    The cost of merchandise used was $1,400.

b. Cash collections on account amounted to $3,100.

c.  Merchandise valued at $2,300 was purchased.

d. Common stock was sold to investors at par value for $1,500.

e.  Stockholders Dennis Franklin and Hank Moore were each paid $1,200 in dividends.

After closing the company's books, what amount should be reported as the Retained 

Earnings balance on Ben Franklin's December 31, 2014, balance sheet?  



	
	_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________



	4.
	Transactions related to Balconi's Supper Club, which was organized in January, 2014, are described below.  Record each transaction in the schedule provided on the following page.  Show the amounts involved, and then indicate how each account is affected (+ or -).  After       all of the transactions have been recorded, calculate total assets, liabilities, and stockholders' 

equity at the end of Balconi's first month of operations, as well as the amount of net income 

for the month of January.

a.  $10,000 of cash was invested into the firm by stockholders, in exchange for 1,000 

     shares of $10 par value common stock.

b.  $3,000 was borrowed from the 1st National Bank of Oglesby on a short-term note 

     payable.

c.  $2,000 worth of furniture was purchased from Clydesdale's Furniture on a cash and carry                     

     basis in order to establish an appropriate decor for serving customers.

d.  Rent amounting to $1,000 for the month was paid to the landlord.

e.  Inventories valued at $1,800 were purchased from Chippy’s Fine Foods, Inc.  Of this

     amount, $700 was paid in cash and the balance will be paid in 60 days.

f.   Merchandise that had cost $500 was sold to customers for $1,000 in cash.

g.  An advertisement was taken out in the News Tribune in the amount of $50, and paid for 

     in cash; the advertisement ran during the first week of operations.

h.  A local softball team was sponsored for the upcoming summer season at an initial cost 

     of $200 in cash.  This cost was necessary in order to generate customer loyalty and to 

     become actively involved in the community.

i.  Additional inventory was purchased from Kasap's Dining Supply at a cost of $2,100.  

    Payment is due in 30 days.

j.  Cash register receipts for the remaining three weeks during the month were $3,100.  The 

    cost of inventories used during this time was $1,400.

k. Employees earned $400 for their efforts during the month but will not be paid until the

    first week of February.  



	
	


	4.
	(continued)

	a.

b.

c.

d.

e.

f.

g.

h.

i.

j.

k.


	                                                                                                               STOCKHOLDERS’
                             ASSETS                           =   LIABILITIES   +              EQUITY           .        

                 Acc.         Mer.      Ppd.                       Note        Acc.         Com. 

Cash    +   Rec.   +    Inv.   +  Adv.  +  Furn. =    Pay.   +    Pay.    +   Stk.    +   Rev.  -   Exp. 




SOLUTIONS:

	True/False

	
	
	
	
	
	
	
	
	

	1.
	
	F
	11.
	
	F
	21.
	
	F

	  2.
	
	T
	12.
	
	T
	22.
	
	T

	3.
	
	T
	13.
	
	T
	23.
	
	F

	4.
	
	T
	14.
	
	T
	
	
	

	5.
	
	T
	15.
	
	F
	
	
	

	6.
	
	T
	16.
	
	T
	
	
	

	7.
	
	F
	17.
	
	F
	
	
	

	8.
	
	T
	18.
	
	F
	
	
	

	9.
	
	F
	19.
	
	T
	
	
	

	10.
	
	F
	20.
	
	F
	
	
	


Exercises

	1.
	This is a more difficult exercise than it looks at first glance.

Equations:  

Working Capital = Current Assets - Current Liabilities

Current Ratio = Current Assets / Current Liabilities



	
	Steps:
1.  $1,200,000 = CA - CL 

                  2.5 = CA / CL

2.   CA = $1,200,000 + CL

      CA = (2.5 * CL)               

3.   (2.5 * CL) = $1,200,000 + CL

4.   (1.5 * CL) = $1,200,000

5.   CL = $800,000

6.   $1,200,000 = CA - $800,000

7.   CA = $2,000,000


	2.
	Solution approach: Remember that the retained earnings account is part of stockholders’ equity, and is increased by net income decreased by dividends.  Since there were no changes in paid-in capital, all of the stockholders’ equity changes are the result of changes in the retained earnings account.  Net assets = Assets - Liabilities.     

	
	

	
	                                                                                                                             Stockholders’  

                                                                             Assets      =    Liabilities   +          Equity  

      Beginning




   $ 814,500   =   $ 356,000    +         (1)

      Changes




                             + 53,800    +   + 210,900  NI

                                                                                                                            - (2)        DIV

      Ending




  $     (4)        =        (3)           +    $585,400


	
	Steps:  

1.  $814,000 - $356,000 = $458,500 beginning stockholders’ equity

2.  $458,500 beginning + $210,900 net income - dividends = $585,400 ending

     Dividends declared during the year =  $84,000

3.  $356,000 + $53,800 = $409,800 ending liabilities

4.  $409,800 + $585,400 = ending assets     

     Total assets at the end of the year = $995,200
Alternative approach:     
5.  Follow steps 1 and 2 above.

6.  Compute the change in assets during the year:    

     Asset change = $53,800 + $210,900 - $84,000 

     Asset change = $180,700 

7.  $814,500 beginning assets + $180,700 asset change = ending assets     

     Ending total assets = $995,200


	3.
	    Retained Earnings (beginning)





   $58,400

+  Net Income (Sales $5,000 - Cost of Goods Sold $1,400)


       3,600

-  Dividends declared ($1,200 x 2)





     (2,400)
=  Retained Earnings (ending)





   $59,600


	4.
	                                                                                                              STOCKHOLDERS’

                             ASSETS                           =   LIABILITIES   +              EQUITY         .

	     a.

b.

c.

d.

e.

f.

g.

h.

i.

j.

k.


	                 Acc.         Mer.      Ppd.                       Note        Acc.         Com. 

Cash    +   Rec.   +    Inv.   +  Adv.  +  Furn. =    Pay.   +    Pay.    +   Stk.    +   Rev.  -   Exp. 

+10,000                                                                                             +10,000  

  +3,000                                                               +3,000  

 -2,000                                             +2,000

 -1,000                                                                                                                           -1,000

  -700                  +1,800                                                +1,100

  +1,000                    -500                                                                               +1,000       -500 

       -50                                                                                                                                -50

  -200                                 +200

                              +2,100                                                +2,100

 +3,100                  -1,400                                                                               +3,100    -1,400

                                                                                           + 400 *                                    -400

$13,150 +  -0-  +   2,000 +  200   +  2,000  =   $3,000 + 3,600  +  10,000  + 4,100  -  3,350

Total assets = $17,350                                          

Total liabilities = $6,600

Total stockholders’ equity = $10,750

Net income = $4,100 - 3,350 = $750

* Ordinarily a separate account entitled Salaries (or Wages) Payable would be used, but                          Accounts Payable is appropriate based on the chart of accounts listed.
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